UNIVERSITY OF CALIFORNIA AT BERKELEY CE C30/ME C85, Section 2, Fall 2019 =
! &
Department of Civil and Environmental Engineering Instructor: A. Imam ’
MIDTERM EXAM
c 1- (35 pts.) For the truss below which is supported by a jointat D and a roller at A and is acted on
by a 300 Ib force, find (a) the reactions at points A and D, (b) Wr_oﬂhe‘truss.
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(35 pts.) (a) Draw the shear and bending moment dj i

agrams for the beam and loa
below. (b) Determine the maximum value of the absolute value of shear force and the bending
moment.
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3- (30 pts.) A couple M of magnitude 2000 N-m is applied to member AB of the mechanism shown

below. For this position find | (a) the force P required to hold the mechani.sm in equ:lubn:on;. ;b;z
The average normal stress in member BC which has a uniform cross sectional area A = .
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